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Background 

•  Beam instability analysis needs Pseudo-Green function
 wake (bunch wake with smaller bunch length <sigz/10). 

•  Impedance formula for double layer beam tube is
 complicated and difficult to get the wake expression
 directly. 

•  To solve the problem -> calculate the bunch wake
 directly from impedance formula or impedance spectrum
 numerically. 
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Compute bunch wake from impedance 
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Resistive wall - Single layer thick wall  
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High Order modes 

•  Rs=1E6, Q=1, ωR=20GHz 
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Resistive wall – Double layer finite
 thickness 
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